Making Change (A)

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$1.81

$3.78

$4.75

$4.80

$0.88

Amount Paid Change Required
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Making Change (A) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$1.81

$3.78

$4.75

$4.80

$0.88

Amount Paid Change Required

=2 alanacaEa
IE 625 38k

$3.19

$1.22

$0.25

$0.20

$4.12
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Making Change (B)

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$1.91

$2.18

$2.18

$0.06

$1.79

Amount Paid Change Required
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Making Change (B) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$1.91

$2.18

$2.18

$0.06

$1.79

Amount Paid Change Required

=2 alanacaEa
IE 625 38k

$3.09

$2.82

$2.82

$4.94

$3.21
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Making Change (C)

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$1.94

$2.09

$4.66

$4.70

$0.84

Amount Paid Change Required
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Making Change (C) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$1.94

$2.09

$4.66

$4.70

$0.84

Amount Paid Change Required

=2 alanacaEa
IE 625 38k

$3.06

$2.91

$0.34

$0.30

$4.16
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Making Change (D)

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$3.93

$3.50

$3.99

$1.22

$1.31

Amount Paid Change Required
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Making Change (D) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$3.93

$3.50

$3.99

$1.22

$1.31

Amount Paid Change Required

=2 alanacaEa
IE 625 38k

$1.07

$1.50

$1.01

$3.78

$3.69
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Making Change (E)

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$3.34

$0.90

$0.50

$3.53

$0.51

Amount Paid Change Required
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Making Change (E) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$3.34

$0.90

$0.50

$3.53

$0.51

Amount Paid Change Required

=2 alanacaEa
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$1.66

$4.10

$4.50

$1.47

$4.49
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Making Change (F)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required
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N.H :

L. $1.27

2. $3.17 e TILe |
== ot |

W RstL, APABIILA RS,

3. S467 &

o N 384 :
ik "ﬂ.ﬁ% =

RIS Rretl, IMDLELANRSS

4 $0.96 e Aol

Gl . TBG25; 2384 i
o e " It
e

FAWES Riets IMLIANSS

D. $1.99

Public Domain Images from Wikipedia.

Math-Drills.com




Making Change (F) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$1.27

$3.17

$4.67

$0.96

$1.99

Amount Paid Change Required

=2 alanacaEa
IE 625 38k

$3.73

$1.83

$0.33

$4.04

$3.01
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Making Change (G)

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$2.67

$1.69

$4.64

$2.45

$3.94

Amount Paid Change Required
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Making Change (G) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$2.67

$1.69

$4.64

$2.45

$3.94

Amount Paid Change Required

=2 alanacaEa
IE 625 38k

$2.33

$3.31

$0.36

$2.55

$1.06
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Making Change (H)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required
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N.H :

L. $3.38
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Making Change (H) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$3.38

$2.75

$4.67

$4.61

$4.21

Amount Paid Change Required

=2 alanacaEa
IE 625 38k

$1.62

$2.25

$0.33

$0.39

$0.79

Public Domain Images from Wikipedia.

Math-Drills.com




Making Change (1)

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$2.14

$3.09

$2.03

$3.04

$2.08

Amount Paid Change Required
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Making Change (I) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$2.14

$3.09

$2.03

$3.04

$2.08

Amount Paid Change Required

=2 alanacaEa
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$2.86

$1.91

$2.97

$1.96

$2.92
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Making Change (J)

Calculate how much change is required for each transaction.

Cost of Items Amount Paid Change Required
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Making Change (J) Answers

L.

2.

3.

4.

5.

Calculate how much change is required for each transaction.

Cost of Ttems

$1.82

$0.03

$1.17

$2.50

$3.24

Amount Paid Change Required

=2 alanacaEa
IE 625 38k

$3.18

$4.97

$3.83

$2.50

$1.76
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